/DIIRB

3UDFRZQLN 5RINiDG GU - XUJDN ODEURXN $QQD 7\J

3Q

ZWRUHN

7\

3RGVIDZ\ HNRQRPL Z
GU - XUJDN ODEURXN
$QQD 327/ =
= INJRGQIX  ]DICFLD
PLQ =DICFLD Z IRUPLH
JGDIQHI

HURGD

7\

%H]SIHFJHEVIZR

HNRQRPLFJQH (Z  GU

- XUJDN ODEURXN $QQD
%wl/ &

=DICFLD Z IRUPLH JGDIQHI

7\

%H]SIHFJHEVIZR

HNRQRPLIFJQH (Z  GU

- XUJDN ODEURXN $QQD
%1/ &

=DICFLD Z IRUPLH JGDIQHI

7\
3RGVIDZ\ HNRQRPLL GU

- XU]DN ODEURXN $QQD =

DICFDRQUQH . /

7N\J

3RGVIDZ\ HNRQRPLL GiZ
GU . XU]JDN ODEURXN
$QQD 32//7 &

=DICFID Z IRUPLH JGDIQHI

7\6]

3RGVIDZ\

HNRQRPLL
iz Gl

- XUJDN
ODEIRXN

$QQD
327/

&

=DICFID Z
IRUPLH
JGDIQHI

7\

3RGVIDZ\ HNRQRPLL GU
- XUJDN ODEURXN $QQD
DICFLD RQ (lQH -/
-DU

7\

3RGVIDZ\ HNRQRPLL GU
- XUJDN ODEURXN $QQD
DICFLD RQ (lQH -/

-DU

7\

3RGVIDZ\ HNRQRPLL GU

- XU]DN ODEURXN $QQD =
DICFLD RQ (lQH -/
-DU

7\

3RGVIDZ\ HNRQRPLL GU

- XUJDN ODEURXN $QQD =
DICFLD RQ (lQH -/
-DU

&]

3w

VRERWD

7\6]

9%H]SIHFJHEVIZR HNRQRPLF]QH GU . XUJDN ODEURXN

$QD %15 NRQ

=DICFID Z IRUPLH JGDIQHI

7\6]

= \NiDG VZRERGQHJR
Z\ERUX, GU . XUJDN
ODEIRXN $QQD 5,3
5 -

7\G]
= \NiDG VZRERGQHJR
Z\ERUX , GU - XUJDN
ODEURXN $QQD 5,3

5 z

7\6]

= \NiDG VZRERGQHJR
Z\ERUX, GU . XU]DN
ODEIRXN $QQD 5,3
5 -

7N\J

= \NiDG VZRERGQHJR
Z\ERUX, GU . XU]DN
ODEIRXN $QQD 5,3
5 -

7\

%H]SIHFTHEWIZR HNRQRPLFIQH Gl
-XUJDN ODEURXN $QQD %1 5
NRQ

=DICFLD Z IRUPLH JGDIQHI




